THE CORPORATION OF THE TOWN OF AMHERSBTURG

BY-LAW NO. 2014-39

BY-LAW TO ADOPT THE 2013 ASSESSMENTS ON WHICH TAXES SHALL BE LEVIED FOR THE YEAR 2014, TO LEVY TAXES FOR THE YEAR 2014, AND TO PROVIDE FOR THE COLLECTION THEREOF.

WHEREAS the Assessment Roll for the year 2013 has been confirmed;

AND WHEREAS the Council of the Town of Amherstburg, in accordance with the provisions of the Municipal Act, 2001, S.O. 2001, Section 290, has prepared and provisionally adopted the estimates of all sums required during the year 2014 for the purposes of the municipality, including sums required by law to be provided for school purposes and for any board, commission or other body has reviewed its estimates for the year 2014;

AND WHEREAS the Council of the County of Essex, has passed By-law 03-2014, being a by-law to set tax ratios for the County of Essex and for all local municipalities within the boundaries of the County of Essex for the year 2014 as follows: Residential/farm property class is 1.0000; Multi-residential property class is 1.9554; Commercial property class is 1.082044; Parking lots/vacant land property class is 0.5620; Office building property class is 1.1640; Industrial property class is 1.9425; Large industrial property class is 2.6861; Farmlands property class is 0.2500; Pipelines property class is 1.3030; and Managed forests property class is 0.2500;

AND WHEREAS the Council of the County of Essex, has passed By-law 06-2014, being a by-law to adopt the estimates for the sums required during the year 2014 for general and library purposes for the County of Essex and to establish tax rates for same against the local municipalities;

AND WHEREAS the Council of the County of Essex, in said By-law 06-2014, has established tax rate reductions as follows:

- a) Vacant and excess lands in commercial property subclasses is 30%;
- b) Vacant and excess lands in the industrial property subclasses is 35%;
- the first subclass of farmland awaiting development in the residential/farm property class is 75%;
- d) the first subclass of farmland awaiting development in all other classes except residential/farm property class to be calculated as follows:

% Reduction = 100 - [100-Reduction(Res/Farm)]/Ratio of Tax Rates where,

"Reduction(Res/Farm)" means the percentage reduction for the municipality for the first subclass for the residential/farm property class, "Ratio of Tax Rates" means the amount equal to the tax rate for the property class divided by the tax rate for the residential/farm property class,

e) the second subclass of farmland awaiting development for all property classes is 75%:

AND WHEREAS, the Assessment Roll prepared in 2013 and upon which the taxes for 2014 are to be levied, was certified by the Assessment Commissioner on December 10, 2013, the whole of the Assessment for real property, according to the said last assessment roll, is as detailed on Schedule A.

NOW THEREFORE THE COUNCIL OF THE CORPORATION OF THE TOWN OF AMHERSTBURG ENACTS AS FOLLOWS:

- 1. THAT the estimates of the Corporation of the Town of Amherstburg, for the year 2014 be as they are hereby adopted.
- 2. THAT the sums to be raised by means of taxation for the year 2014 be as follows, subject to the adjustments adopted in the estimates, which adjustments are by law required to be made:
 - a) For general municipal purposes the net levy will be \$18,002,112;
 - b) For County purposes the net levy will be \$9,128,001;
 - c) For School purposes the net levy will be \$6,032.384.
- THAT there shall be levied and collected upon the whole assessment for real property, according to the last certified assessment roll, the rates of taxation for the year 2014 as set out in Schedule B.
- 4. THAT all other rates as provided for in the Statutes of Ontario and in the by-laws of the municipality, be levied and collected in the manner directed and authorized by said Statutes and By-laws.
- THAT all taxes, local improvements, and other special rates shall be paid into the office of the Treasurer or the Collector of Taxes of the Town of Amherstburg.
- 6. THAT all taxes, local improvements, and other special rates shall be payable in the following manner and on the following dates:
 - a) All amounts of \$100.00 and under, on or before July 31, 2014 or a date as may be determined by the Treasurer to be in compliance with the Municipal Act,
 - b) All amounts in excess of \$100.00 levied on real property:

Fifty percent on the 31st day of July, 2014; Fifty percent on the 31st day of October, 2014

- c) In the event that the above dates cannot be adhered to as a result of changes to provisions as may be prescribed by the Province of Ontario, the Treasurer may amend the above dates to comply with the said provisions.
- 7. THAT a penalty charge of one and one quarter percent (1 1/4%) on the first day in which default occurs shall be imposed for non-payment of taxes.
- 8. THAT a late payment charge of one and one quarter percent (1 1/4%) on the first day of each calendar month thereafter on the outstanding taxes due shall be imposed for non-payment of taxes.
- 9. THAT exception shall me made to clause 7 and 8 above for tax accounts where no penalties or interest have been charged on the account for the previous 3 year period. Said exception to penalty must be requested by the ratepayer and accounts shall be granted a grace period of 15 business days for payment with penalties and interest charges applying as described in clause 7 and 8 above.
- 10. THAT failure to receive a tax notice does not exempt the property owner from penalty and late payment charges as outlined in clause 7 and 8 above.
- 11.THAT the Treasurer and the Collector may accept part payment from time to time on account of any installments, provided that acceptance of such part payment shall not affect the collection of the percentage charges imposed under Clause 7 or 8 of this by-law.

- 12.THAT the Collector may mail or cause to be mailed to the address of the residence, the notice specifying the amount of taxes and local improvement rates payable by such persons.
- 13. This by-law comes into force and effect upon final passing thereof.

READ A FIRST, SECOND, AND THIRD TIME AND FINALLY PASSED THIS 9TH DAY OF MAY 2014.

Mayor - Wayne Hurst

Deputy Clerk - Paula Parker

TOWN OF AMHERSTBURG

BY-LAW NO. 2014-39

SCHEDULE A

Property Class	Assessment
Residential	\$ 1,734,806,800
Res. Farm 1	\$ 1,109,600
Multi-Residential	\$ 23,767,930
Commercial - Full	\$ 92,672,615
Commercial - Excess Land	\$ 2,653,750
Commercial - Vacant Land	\$ 4,056,505
Commercial New Construction - Full	\$ 2,211,500
Commercial New Construction - Excess Land	\$ 68,500
Shopping Centre - Full	\$ 18,061,000
Industrial - Full	\$ 28,723,390
Industrial - Full Shared PIL	\$ 81,900
Industrial - Excess Land	\$ 724,220
Industrial - Vacant Land	\$ 4,718,197
Industrial New Construction - Full	\$ 1,297,500
Large Industrial - Full	\$ 6,860,968
Large Industrial - Excess Land	\$ 140,758
Pipeline - Full	\$ 10,518,786
Farm	\$ 140,549,647
Managed Forest	\$ 613,000
Total	\$ 2,073,636,566

BY-LAW NO. 2014-39

SCHEDULE B

		2014	Ratio	Weighted Assessment	Municipal	County	Education	Municipal	County	Education
Residential	Public English	1,191,349,471	1.000000	1,191,349,471	0.00881967	0.00447203	0.00203000	10,507,313.50	5,327,750.57	2,418,439.43
	Public French	4,989,285	1.000000	4,989,285	0.00881967	0.00447203	0.00203000	44,003.87	22,312.23	10,128.25
	Separate English	474,276,720	1.000000	474,276,720	0.00881967	0.00447203	0.00203000	4,182,965.88	2,120,979.72	962,781.74
	Separate French	64,191,324	1.000000	64,191,324	0.00881967	0.00447203	0.00203000	566,146.53	287,065.53	130,308.39
	Res. Farm 1	1,109,600	0.250000	277,400	0.00220492	0.00111801	0.00050750	2,446.58	1,240.54	563.12
Multi-Residential	Public English	19,689,321	1.955400	38,500,498	0.01724599	0.00874461	0.00203000	339,561.83	172,175.43	39,969.32
	Public French	38,478	1.955400	75,240	0.01724599	0.00874461	0.00203000	663.59	336.48	78.11
	Separate English	3,721,537	1.955400	7,277,093	0.01724599	0.00874461	0.00203000	64,181.59	32,543.39	7,554.72
	Separate French	318,594	1.955400	622,979	0.01724599	0.00874461	0.00203000	5,494.47	2,785.98	646.75
Commercial	Full	92,672,615	1.082044	100,275,847	0.00954327	0.00483893	0.01368871	884,400.24	448,436.30	1,268,568.55
	Excess Land	2,653,750	0.757431	2,010,033	0.00668029	0.00338725	0.00958210	17,727.83	8,988.91	25,428.50
	Vacant Land	4,056,505	0.562000	2,279,756	0.00495666	0.00251328	0.00703811	20,106.70	10,195.13	28,550.13
Comm. New Const.	Full	2,211,500	1.082044	2,392,940	0.00954327	0.00483893	0.01220000	21,104.95	10,701.29	26,980.30
	Excess Land	68,500	0.757431	51,884	0.00668029	0.00338725	0.00854000	457.60	232.03	584.99
Shopping Centre	Full	18,061,000	1.082044	19,542,797	0.00954327	0.00483893	0.01368871	172,361.09	87,395.91	247,231.79
Industrial	Full	28,723,390	1.942500	55,795,185	0.01713222	0.00868692	0.01560000	492,095.32	249,517.79	448,084.88
	Full Shared PIL	81,900	1.942500	159,091	0.01713222	0.00868692	0.01560000	1,403.13	711.46	1,277.64
	Excess Land	724,220	1.262625	914,418	0.01113594	0.00564650	0.01014000	8,064.87	4,089.31	7,343.59
	Vacant Land	4,718,197	1.262625	5,957,313	0.01113594	0.00564650	0.01014000	52,541.56	26,641.30	47,842.52
	Full - New Const.	1,297,500	1.942500	2,520,394	0.01713222	0.00868692	0.01220000	22,229.05	11,271.28	15,829.50
Large Industrial	Full	6,860,968	2.686100	18,429,246	0.02369053	0.01201232	0.01560000	162,539.94	82,416.14	107,031.10
	Excess Land	140,758	1.745965	245,759	0.01539884	0.00780801	0.01014000	2,167.51	1,099.04	1,427.29
Pipeline	Full	10,518,786	1.303000	13,705,978	0.01149203	0.00582706	0.01560000	120,882.25	61,293.60	164,093.06
Farm	Public English	115,520,558	0.250000	28,880,140	0.00220492	0.00111801	0.00050750	254,713.40	129,153.14	58,626.68
	Public French	232,000	0.250000	58,000	0.00220492	0.00111801	0.00050750	511.54	259.38	117.74
	Separate English	21,385,745	0.250000	5,346,436	0.00220492	0.00111801	0.00050750	47,153.82	23,909.48	10,853.27
	Separate French	3,411,344	0.250000	852,836	0.00220492	0.00111801	0.00050750	7,521.74	3,813.92	1,731.26
Managed Forest	Public English	335,634	0.250000	83,909	0.00220492	0.00111801	0.00050750	740.05	375.24	170.33
	Public French	620	0.250000	155	0.00220492	0.00111801	0.00050750	1.37	0.69	0.31
	Separate English	269,883	0.250000	67,471	0.00220492	0.00111801	0.00050750	595.07	301.73	136.97
	Separate French	6,863	0.250000	1,716	0.00220492	0.00111801	0.00050750	15.13	7.67	3.48
		2,073,636,566		2,041,131,313				18,002,112.00	9,128,000.62	6,032,383.71